Name: Qﬁg)
Geometry CC Unit 3 Day 11 Unknown angles

Give the name the point of concurrency for each of the following.

1. Angle Bisectors of a Triangle /N En ter

2. Medians of a Triangle Cerdroicl

3. Altitudes of a Triangle C)r’f‘?wc‘- conter

4. Perpendicular Bisectors of a Triangle Clrcumcenitcr

5. The incenter of a triangle is equidistant from the Sides  ofthe
triangle.

6. The circumcenter of a triangle is equidistant from the Vert rc‘@ s of
the triangle.

2
7. The centroidis _—3 ____ of the distance from each vertex to the midpoint

of the opposite side.

8. Point G is the centroid of A ABC, AD =8, AG =10, BE =10, AC=16 and _

CD = 18. Find the length of each segment. 8 =y - e
pB= &

cG= /X

GE=

BC= L0

9. Point G is the centroid of A ABC. Use the given information to find the value

of the variable.
FG=x+8and GA =6x—-4

20x1%) bx-

2X tlo=bx—Y
- 5- 20 - 4 x
X=5




Know Your terms!

1) Identify each type of angle pair below.

Corresponding
Alternate interior

Alternate exterior

Linear pair Vertical

Complementary

Same side interior

/8

Angles 2 and 3: Vf rtita [ Angles 1 and 5: Corr {-"-g-rL;z_,.fz.’u ﬂj

Angles 2 and 4: Liroar PG Angles 3 and 6: Alerivaie ey

Angles 5 and 3: Same 51de  |nicagc Angles 1 and 8:_Alfcinate exrcrius

2) Name the 3 undefined terms in geometry:

1) point 2) line 3__plane

3) i Which is a “good definition” for complementary angles?

1) Angles whose sum is 180°.

2) Angles whose sum is 90°.

3) A linear pair whose sum total angle measure is 180°.

4) Adjacent angle pair whose sum total angle measure is 90°.

4) Name the postulate of equality for each.

Ty anc iy FA=DZ,DZ = ME,
Y ans e, 1)
FA=ME
Rellexive 2) ME - ME
Synmwnedvic 3) FA=DZ
t DZ=FA

¢

5) The sum of the measures of 3 exterior angles of a triangle is 3(0()



Unknown angle pairs

1) Find x so that € || m. x + 6)°
130° m

Show work:
Ax +( +130 =180

- S——

2) Suppose Z4 and Z5 form a linear pair.
¥msl=2x,ml2 =3x—20,and mL3=x—4, Show work:
what is mZ3?

4) There are no linear pairs of angles in this diagram. Rachel said the value of x is 80. Explain
using specific geometry calculations and reasons how she arrived at this value.

ﬂd’éﬂ giend ¥ aruand o pont

)\(p_ A VS ©. “iald

2 + 1207 360
e 2-"."0
X EO




5) All segments are drawn straight. If NO L PQ, solve for x and y.

Show work:

% <5 x + 1/
Gx +49=90
| - 5@l
{-f I (? x g / 9' 5 )
* g o _;'! e T
Ix 9. ' =506
6) Find the measure of angle 4. Show work (includes diagram):
104 ° 150
+ ¥ 50
e e
! 50 o

30




Triangle theorems

1) The measures of the three angles of a triangle are represented
by x, 3x, and x + 30. Find the value of x and classify the triangle.

Sx+ 325 180 '”302
5x- 150 90/

x=__30

classification: l&g«u Sealne

2) In the diagram, ZACD is an exterior angle of AABC, m£A = 3x, m£ACD = §x, and
m«B =50. What is the value of x?

A
X +50=hHy
o+ ¢x &9
PYa.

3) If two sides of a triangle have lengths 4 and 9, then what is the range of values for the third

side s?
5 <s< /3

In ARQP
oP=15fi
RP =25 ft
RO=13f

-
4) Which is the smallest angle in triangle RQP? __ ¥ {

S) In ADEF Which is the longest side of triangle DEF? De

msD = 35° .
meF=95° m« € *80

6) Can Jake build a triangular shaped pen for his guinea pig, Mack with 3 wall lengths of
24 inches, 36 inches and 62 inches? Explain why or why not.

2 Y ' Sum of any 2
R 60 <6z No Sides of a L
0O st pr Grtaine

__r-!y\& N g grﬁii



Isosceles triangle theorems

1) The vertex angle of an isosceles triangle measures 15 degrees
more than one of its base angles. How many degrees are there in a
base angle of the triangle?

Show how you arrived at your solution:

3x+ ;g{g/f

3x:loy

mdd2<=621re2
mk 2= 12¢°
oK

150
.-5(0
124°

2) Find the value of the angle numbered 2.

Show work:

ML = 2 +e2 - i2%°

02 285 r &0 A K" g
fm X2 - £24“’

3) In the diagram of ABCD shown below BA is drawn from
vertex B to point A on IC , such that BC=BA,

In ADAB, m4D = x, m£DAB =3x - 10, and msDBA =2x - 50.

PART (A): Find msD. [Only algebraic solutions can receive full

credit.] é ¥ £ 1e0°
O PRSI o
PART (B): Find mzBAC. P L 1O °

. S ey e— K
In AABC, BA =21y-38 and BC=3y-2. (BC = BA )
PART (C): Find the length of BC. [Only algebraic solutions can receive full credit.]

2f\}{ - 3K~ 3\; -2 B(‘_ = 3)(--1 E%}W‘g
,9\/ =32 BC 3(2).._..2_ s
Y 7%

PART (D): Classify ADAB by angles and sides.
Obtuce scalene




Coordinate Geometry y

1) In the diagram below, A 4BC has vertices A(4,5),
B(2,1), and C(7,3).

‘(

What is thq,shpc""@mm from 4 to R ( 2 1)
—_— - B . {

BC?.-~ Y . -
U shpe ot B o= Ly o 173 -2 2 ¢ (q3)
A x 2 -1 5 S
e L[S
e B

2) Prove that A (-2, -2), B (5, -1), C {1, 2) is an isosceles triangle.
e

ormula: ] N .
F Iad::-; vf {/Ax)3+ (a\f}&.

Calculation(s): | | N B _ o
AC Canteaey® o arie Vas T

C o S'- hd L

a N g Ok

[P ———

e s

}_ d P W 2. ! :i .
Cey (s ()t y fe $ S
85

Conclusion: ﬁb}q B(.» hzﬁfa a ;(" I & e Lidt

| h";, r frﬁ,‘-(" ;"? Fa F VAl £ ‘...m



Let’s Review: Practice these for the review questions on Test #3!

Check answers on the website!

c;)\ 1.What is the slope of the line which passes through the points (2, 6) and (-3,7)?
v/ é =1 _ ...(
m Y>3 S

1 1 ) =
15 @‘g 3)5 4) -5 Ao 273 5

5 2. What is the image of the point (2,-3) after the transformation Ro,90°?

(-4,x)

(3, 2)
(=3.2)

é 203) - ”I"’“Sf?g
4.

g 3. Which construction is depicted in the diagram?
1) perpendicular bisector
2) altitude
3) angle bisector
4) median

! 4. Which of the following makes a valid claim about a composite of two reflections?

1. A composite of two reflections can never be a reflection.

2. A compaosite of two reflections can never be a rotation.

3. A composite of two reflections can never be a translation.

4. A composite of two reflections can never preserve orientation

L( 5. Which is the correct sequence for the diagram?

1. Rg s o T (ABDP)
T_ o R; 4 {ABDP)
Rg om0 © TE (ABDP)
rﬁ oRﬁo (ABDP)

N




